

(1) Pの座標を (P_x, P_y) とすると $OP = \sqrt{P_x^2 + P_y^2}$

$$\begin{pmatrix} a & b \\ c & d \end{pmatrix} \begin{pmatrix} P_x \\ P_y \end{pmatrix} = \begin{pmatrix} aP_x + bP_y \\ cP_x + dP_y \end{pmatrix} \neq 1 \quad OP' = \sqrt{a^2P_x^2 + 2abP_xP_y + b^2P_y^2 + c^2P_x^2 + 2cdP_xP_y + d^2P_y^2} = \sqrt{(a^2+c^2)P_x^2 + 2(ab+cd)P_xP_y + (b^2+d^2)P_y^2}$$

$$\frac{OP'}{OP} = \sqrt{\frac{(a^2+c^2)P_x^2 + 2(ab+cd)P_xP_y + (b^2+d^2)P_y^2}{P_x^2 + P_y^2}} \quad \text{--- (1)}$$

$$Qの座標を (Q_x, Q_y) とすると 同様に (2) $\frac{OQ'}{OQ} = \sqrt{\frac{(a^2+c^2)Q_x^2 + 2(ab+cd)Q_xQ_y + (b^2+d^2)Q_y^2}{Q_x^2 + Q_y^2}} \quad \text{--- (2)}$$$

P, Qの座標を $(1, 0), (0, 1)$ とすると (1) は $\sqrt{a^2+c^2}$ --- (1)', (2) は $\sqrt{b^2+d^2}$ --- (2)' とする

(1)' = (2)' かつ $a^2+c^2 = b^2+d^2$. 故に A, B間の条件を満たすためには $a^2+c^2 = b^2+d^2$ が必要となる

(2) Xを実数とて $a^2+c^2 = b^2+d^2 = X$ とする

$$(1) \text{ は } \sqrt{\frac{X(P_x^2+P_y^2) + 2(ab+cd)P_xP_y}{P_x^2+P_y^2}} \quad \text{--- (3)} \quad (2) \text{ は } \sqrt{\frac{X(Q_x^2+Q_y^2) + 2(ab+cd)Q_xQ_y}{Q_x^2+Q_y^2}} \quad \text{--- (4)} \text{ とする}$$

$$P, Qの座標を (1, 1), (1, -1) とすると (3) は $\sqrt{\frac{2X + 2(ab+cd)}{2}} = \sqrt{X + ab + cd}$ --- (3)'$$

$$(4) \text{ は } \sqrt{\frac{2X - 2(ab+cd)}{2}} = \sqrt{X - (ab+cd)} \quad \text{--- (4)'} \text{ とする}$$

$$(3)' = (4)' \text{ かつ } X + ab + cd = X - (ab+cd) \quad ab + cd = 0$$

故に A, B間の条件を満たすためには $ab + cd = 0$ が必要となる

$$a^2+c^2 = b^2+d^2 = X, \quad ab+cd = 0 \text{ のとき } (1) \text{ は } \sqrt{\frac{X(P_x^2+P_y^2)}{P_x^2+P_y^2}} = \sqrt{X}, \quad (2) \text{ は } \sqrt{\frac{X(Q_x^2+Q_y^2)}{Q_x^2+Q_y^2}} = \sqrt{X} \text{ かつ } (1) = (2)$$

$$\text{以上より } a^2+c^2 = b^2+d^2 \quad \text{--- (5)}, \quad ab+cd = 0 \quad \text{--- (6)}$$

$$\begin{pmatrix} a & b \\ c & d \end{pmatrix} \begin{pmatrix} 1 \\ \sqrt{3} \end{pmatrix} = \begin{pmatrix} -4 \\ 0 \end{pmatrix} \neq 1 \quad \begin{matrix} a + \sqrt{3}b = -4 & a = -\sqrt{3}b - 4 \\ c + \sqrt{3}d = 0 & c = -\sqrt{3}d \end{matrix}$$

$$(5) \text{ かつ } 3b^2 + 8\sqrt{3}b + 16 + 3d^2 = b^2 + d^2 \quad 2b^2 + 8\sqrt{3}b + 16 + 2d^2 = 0 \quad b^2 + 4\sqrt{3}b + 8 + d^2 = 0$$

$$(6) \text{ かつ } (-\sqrt{3}b - 4)b - \sqrt{3}d^2 = 0 \quad -\sqrt{3}b^2 - 4b - \sqrt{3}d^2 = 0 \quad 3b^2 + 4\sqrt{3}b + 3d^2 = 0$$

$$-4\sqrt{3}b + 12\sqrt{3}b + 24 = 0 \quad 8\sqrt{3}b = -24 \quad b = -\sqrt{3}, \quad a = 3 - 4 = -1$$

$$3 - 12 + 8 + d^2 = 0 \quad d = \pm 1 \quad c = \mp\sqrt{3}$$

$$\text{以上より } A = \begin{pmatrix} -1 & -\sqrt{3} \\ \pm\sqrt{3} & \mp 1 \end{pmatrix}$$